
C Ratio:

n=
0%

100%

fra
ct

io
n 

of
fra

gm
en

ts

p = 9.9 x 10-21

Hoxd13

ES cells (replicate 1) vs
E10.5 Forebrain (replicate 1)

116 131
outside 3D

compartment
inside 3D

compartment

n=
0%

100%

fra
ct

io
n 

of
fra

gm
en

ts

Hoxd9

ES cells (replicate 1) vs
ES cells (replicate 2)

E10.5 Forebrain (replicate 1) vs
E10.5 Forebrain (replicate 2)

n=
0%

100%

fra
ct

io
n 

of
fra

gm
en

ts

Hoxd4

n=
0%

100%

fra
ct

io
n 

of
fra

gm
en

ts

Hoxb13

n=
0%

100%

fra
ct

io
n 

of
fra

gm
en

ts

Hoxb9

p = 2.2 x 10-34

ES cells (both replicates) vs
E10.5 Forebrain (both replicates)
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